KV WARANGAL
SUMMER VACATION HOLIDAY HOMEWORK MATHEMATICS
CLASS 8
SESSION (2023-24)



General Instructions:
1. Do Holiday HW in Classwork copy (give heading SUMMER VACATION HW), no need to make separate copy.
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Q.1) Addition and subtraction of Rational number:
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Q.2) Find which of following is rational number:

1  11 ,	0

, 13 ,0

5	54	35	0
Q.3) Learn and write table from 2 to 25.
Q.4) Learn and write square of numbers from 2 to 25. Ex. 2 × 2 = 4
Q.5) Learn and write cube of numbers from 2 to 15. Ex. 2 × 2 × 2 = 8
Q.6) Revise chapters = Rational numbers and Linear equation in one variable.
Q.7) Solve following Worksheets given below.
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WORKSHEET- 1	(RATIONAL NUMBERS)
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WORKSHEET- 2	(LINEAR EQUATION IN ONE VARIABLE)
[image: ][image: ]


[image: ]


[image: ]
image6.png
-4
(13) — is .
0

a. not a rational number b. a positive rational number

. a negative rational number d. either positive or negative rational number

(14) Which of the following is a rational number(s) ?

7 5
a. — b. —

15 -13

6
c. — d. All of these




image7.png
Fill in the blanks

(15) Add the following rational numbers.
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Choose correct answer(s) from the given choices

(1) fa+b=5,
b+c=12and

c+a=11,

then what is the value of a + b + c?

a.9 b.14
c15 d.12

(2) The father's age is 4 times his daughter's age. After 18 years, the age of the father will

be 2 times his daughter's age. The present ages of the daughter and the father are,
respectively.

a.7 years and 28 years b. 9 years and 36 years

c. 11 years and 44 years d. 8 years and 32 years

(3) Divya has two planks of wood. One of them is 23 m less than 4 times the length of the

other one. The two planks put together are 27 metres long. What is the length (in
metres) of the longer plank?

a. 14 b. 16
e kF d. 20
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(4) If the number in the center is the sum of all other numbers, find the value of y.
(Clarification: In the figure, the terms containing y are products of y with single digit
numbers.)

/o

ANBIIA
4

a.9 b.7
€5 d. 6
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Fill in the blanks

8 7

(5) — of a number when multiplied by — of the same number make 216. The number
7 48

is

(6) Solve the equations to find value of variable.

ay+5  Sy+1 2y-6
A) S =
-3 3 3

4b-2 5b-3 5b-49

-2 5 -10

(7) For any four numbers p, , r and s, the mathematical representation

P a
meanspXx s-qXxr.
ros
3x  4x
If =-30,
3 2

the value of x=
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Answer the questions

(8) Two angles in a triangle are in the ratio 2:3. If the sum of these angles is equal to the
third angle, then what is the value of third angle?

(9) Solve the equation to find value of y.

1 02
2yt — = —
2 2

(10) If f(x) = 2x -5 and f(p) =

. find the value of p.
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Holiday Homework is an attempt to enhance children’s imagination. Doing it in the right-
spirit with enthusiasm will make it a great learning experience .
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Description : write fractions in mixed form and find out the hidden word.

5 8 3 9 -5 2
Al A5 3 57
2 -3 3 s -8 5 7
4 5x+ iy 6-3-3
-9 5 -1 -
il =l

1123 |4|5 |6 |78

Answers : -
1 -6 1 13
= 1= 1= = = 6= L==
S 2 35 M=o 2 36
1 -125

R=22 A= 12 0= 2=
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(1) Iithe sum of both the horizontal and the vertical rows is same, find the missing rational number.

-7 3 2 3
(2) Find the difference between the greatest and the least numbersof — , — , — , — .

5 16 7 24
3) Solve the following and simplify to lowest term:
3 6 5 5 4

A) o Dy g
2 5 5 3 4

6 5
@) Is — the multiplicative inverse of - — ? Why or why not ?
E 2 6 6
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(5) What is the multiplicative inverse of — ?

16

18
(6) Reduce the rational number — to the lowest form.
15

(7) Name the property that is reflected in the following expression:

5 11
A) x -
A1 5
1 24
B) — x_— =1
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(8) Find the following and simplify it to lowest term:

5 2 3
A S
5 5 5
1 4 4
B) — x — x—
3 4 4

(9) Write the rational number that are equal to their reciprocals.

Choose correct answer(s) from the given choices

(10) Which of the following statements is false?

a. Every rational number is a fraction b. Any number, when divided by 10 is a rational
number
c. Every fraction is a rational number d. Every negative number is a rational number

(1) Which of the statements given below is false?

a. There is no fraction that cannot be represented  b. All the negative numbers can be represented as
as a rational number. rational numbers.

c. A decimal number cannot be a rational number d. There is no integer that cannot be represented
as a rational number.

a
(12) Which of the following statements is true for a rational number — .
b

a. The denominator b cannot be 0 b. The numerator a can be a decimal number

¢. The denominator b cannot be 1 d. The numerator a cannot be 1




